

$$f(x) = x + 7$$

$$g(x) = x^2 - 2x - 3$$

$$[f \circ g](x) = f[g(x)] = f(x^2 - 2x - 3) = (x^2 - 2x - 3) + 7$$

$$[f \circ g](x) = x^2 - 2x + 4$$

$$[g \circ f](x) = g[f(x)] = g(x + 7) = (x + 7)^2 - 2(x + 7) - 3$$

$$= (x + 7)(x + 7) - 2(x + 7) - 3$$

$$= x^2 + 7x + 7x + 49 - 2x - 14 - 3$$

$$[g \circ f](x) = x^2 + 12x + 32$$

$$f(x) = 2x - 5$$

$$g(x) = x^2 + 4$$

$$h(x) = -3x + 2$$

$$[g \circ h](2) = g[h(2)] = g(-4) = (-4)^2 + 4 = \boxed{20}$$

$$h(2) = -3(2) + 2 = -4$$

$$(h \circ f)(-4) = h[f(-4)] = h(-13) = -3(-13) + 2 = \boxed{41}$$

$$f(-4) = 2(-4) - 5 = -13$$

$$(f \circ g)(-5) = f[g(-5)] = f(29) = 2(29) - 5 = \boxed{53}$$

$$g(-5) = (-5)^2 + 4 = 29$$

p. 389-390

15-16, 28-31, 33-42,
46-47, 56-57